94 TFTDH B, 4 HRIZIWT EREA 2 3240 Lz, EREFRA DORRIT
UTDEBY THD,

FREAE 05 AU BEHERITER
s JE3I33E5969 T 1§937
REHE  iPE132KE5495748F076

[MER2 RO Z > 7 OHE]
i 15 #EFEOERE E 100m
PRGNS 10m Z & OFE T > 2
2+2+%5: =10 1020« 16=106 : 3= [77]

[77] = ML, 7785

5. 5m OFOIHR
LTy 7 1.7TE%)

21



22



FREAE 7)) HALT  RANMEEITEER
Hug |EEI33HE069 828082
ERIE HIRE 1321549532860

PRRET=
rEFSI=
J=RRY b
XERI=

ElREg =

[ 2RO T > 7 DHIE]

HiS 17 WFEOE X 120m
RIS 10m = & OFHE T > 7
20:30:5:15:80:50: B0:30: 20:5: 5 : 5= [285]

[285] = ML . 28 5 g4y

5. 5m O FOH
(B FT v 28.5E%)

23



24



FrERE 9 AL RAME DD TEER
HAEE  JE3EI3315964793%034
R EIFE132HE4957 548028

D BEIERTS
8 LEREos
| =xfvr
o xS
[EIREE T =

[ 2R ORMN 7 > 7 OHIE]
A 19 WEORES 70m
FERIANS 10m & DOF T > 7
10 : 30 : 40 : 200 : 250 : 50 : 20= [600] +EEM

[600] = 60 fi£ 5>

5. bm O FOfR
ErT v 7 60H%5)

25



26



FREEE G) LT PEEITER
FEE  ER34/G01 77078071
R HIF£132Hi6457 558031

= & O
ATRI=Z

(Elx SR T =

[ 72RO HE T > 7 DHE]
S 37 EEOE X 230m
EEEIND 10m & & OFET >

KT R TRy NOFTHICE LN TH ) MR 25 ZH0H

10:30:20:20:25:20:20:20:20:20:40:50:20

15:10:10:20:20:40:50-20:50:50:= [600]
[600] = 4 . 60fE5
5. 5m OFOHR

(HE T v 7 60 B

27






BECHDEE LEVBENDHofc, BAELEWVWEIRZGWNED
/7 71N

29



30



